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VOLTAGE SENSE LINE

.model D D(1s=2.52n Rs=.568 N=1.752 Cjo=4p M=.4 tt=20n lave=200m Vpk=75
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.options plotwinsize=0
model 1N764A D(ls=1.5n Rs=.5 Cjo=270p nbv=2 bv=3.14 Ibv=1m
.model NPN NPN(IS=2.39E-14 NF=1.008 ISE=3.545E-15 NE=1.541 BF=204.3 IKF=0.1357 VAF=63.2 NR=1.004 1SC=6.272E-14 NC=1.243 1144 -1 IRB=1 1 XTI=3 CJE=1.358E-11 VJE=0.65 MJE=0.3279 TF=4.391E-10 XTF=120 VTF=2.643 ITF=0.7495 PTF=0 CJC=3.728E-12 VJC=0.3997 MJC=0.2955 XCJC=0.6193 TR=1.00E-32 CJS=0 VuJS=0.75 MJS=0.333 FC=0.9579 Viceo=45 Icrating=100m mfg=Philips)
.model PNP PNP(IS=3 83-14 NF=1.008 ISE=1.22E-14 NE=1.528 BF=344.4 IKF=0.08039 VAF=21.11 NR=1.005 ISC=2.85E-13 NC=1.28 BR=14.84 IKR=0.047 IRB=1 11 XTI=3 CJE=1.23E-11 VJE=0.6106 MJE=0.378 TF=5 60E-10 XTF=3.414 VTF=5.23 [TF=0.1483 PTF=0 CJC=1.08E-11 VJC=0.1022 MJC=0.3563 XCJC=0.6288 TR=1.00E-32 CJS=0 VJS=0.75 M.
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